
jdc titanium engine bay dress-up kit (standard Allen) 

*Note: Use gloves during installation to keep oils off titanium parts. 

• (14) JDC Custom M6 Bolts & Washers: (Circled in Blue) 
o Fenders 
o Headlights 
o Radiator Overflow Reservoir 
o Front Bumper 

• (8) JDC Custom M8 Bolts: (Circled in Red) 
o (2) 17mm Bolts (ACD Reservoir) 
o (2) 17mm Bolts (Radiator Stay Brackets) 
o (1) 17mm Bolt (A/C Line) 
o (1) 17mm (Power Steering Line) 
o (2) 20mm (Power Steering Reservoir) 

• Valve Cover: (Circled in Green) 
o (13) 25mm Bolts (Inside & Outside of Valve Cover) 
o (4) 16mm Bolts (Spark Plug Cover) 
o (3) 12mm Bolts (Front Engine Lift Hook & Rear Wire Harness Brackets) 
o (20) washers (For Each Bolt) 

• Timing Belt Cover: (Circled in Purple) 
o (2) M6x25mm Bolts 
o (2) M6x17mm Bolts  
o (4) washers (For Each Bolt) 

• Fusebox: (Circled in Pink) 
o (1) M6x12mm Bolt & Washer 
o (2) M6x16mm Bolts & Washers  

 

 

 



 

jdc titanium engine bay dress-up kit (Custom Head) 

*Note: Use gloves during installation to keep oils off titanium parts. 

• (14) JDC Custom M6 Bolts & Washers: (Circled in Blue) 
o Fenders 
o Headlights 
o Radiator Overflow Reservoir 
o Front Bumper 

• (8) JDC Custom M8 Bolts: (Circled in Red) 
o (2) 17mm Bolts (ACD Reservoir) 
o (2) 17mm Bolts (Radiator Stay Brackets) 
o (1) 17mm Bolt (A/C Line) 
o (1) 17mm (Power Steering Line) 
o (2) 20mm (Power Steering Reservoir) 

• Valve Cover: (Circled in Green) 
o (13) 25mm Bolts (Inside & Outside of Valve Cover) 
o (4) 17mm Bolts (Spark Plug Cover) 
o (3) 12mm Bolts (Front Engine Lift Hook & Rear Wire Harness Brackets) 
o (8) Custom washers for outer valve cover 

 
• Timing Belt Cover: (Circled in Purple) 

o (2) M6x25mm Bolts 
o (2) M6x17mm Bolts 

• Fusebox: (Circled in Pink) 
o (1) M6x12mm Bolt 
o (2) M6x17mm Bolts  

 


